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CHALLENGE CLUB(1/6)

2Gr.Time Attack 2[81H

Lap Time Chart
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3= 237662 5= 316537 7=
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3= 2'38.827 5= 2'38.140 7=
2'38.672 4= 2'39.111 6= 3'19.995 8=

CAR/ME 2 717L74Z PIT: 1[H
2= 254932 3= 242240 4=
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C2R Bl E#t ARX7YV-THEERIFIARF—Y32247F A47FAK =Y PIT: 2[E

3= *2'34.876 5= P3'10.963 7=
2'36.126 4= 2'35.025 6= 7'28.820
C2REH & 4775 PIT:1E
3= 2'40.210 5= 3'07.694 7=
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3= 2'33.786 5= 2'57.125 6=
2'51.588 4= *2'32.857

C4S 85 HKX I1%Y—Y'240R PIT: 2[H

3= 2'34.495 5= 2'32.815 7=
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3= 2'41.864 5= 2'38.601 7=
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2017-01-15

WEATHER :
COURSE :

2'35.955
2'55.021

2'31.073
2'38.078
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2'36.238
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*2'27.673
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*2'35.734
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5188 $REE FrLUY 9737793077 WEATHER : Fine
CHALLENGE CLUB(1/6) COURSE : Dry
2Gr.Time Attack 2[A]1 H
Lap Time Chart EEL— 2 T—X

33 C5R th¥ IEE BNR32J-AMUPEEMSH ! AD1731VGT-R PIT: 1E

1= 3= 2'32.402 5= 2'31.213 7= 2'30.866 9= 2'31.721 11= 2'31.448

2= 2'35.097 4= 2'32.012 6= 2'31.918 8= *2'30.612  10= 231506 12= P3'22.245
34 C3R R#&JII M S2000 PIT: 1[E

1= 3= 2'33.272 5= 2'31.458 7= *2'30.767 8= 3'11.578 9= P2'52.303

2= 3'00.865 4= 2'35.309 6= 2'44.609



